
GLAZING DETAIL 1

VINYL SNAP BEAD

1/8" MONOLITHIC GLASS
"U" VINYL GASKET

1/2" BITE

INTERIOR

EXTERIOR

VINYL SNAP BEAD

"U" VINYL GASKET INTERIOR

EXTERIOR

0.051" ANOD. PANELS

GLAZING DETAIL 2

GLAZING NOTES:
1. GLASS TYPE SHALL COMPLY WITH ASTM E1300

REQUIREMENTS AS WELL AS APPLICABLE SAFETY GLAZING
REQUIREMENTS PER THE FBC. THICKNESS, TEMPER, AND
SAFETY GLAZING REQUIREMENTS SHALL BE REVIEWED ON
A SITE SPECIFIC BASIS.

1/2" BITE

TABLE OF CONTENTS

SHEET SHEET DESCRIPTION

1 GENERAL NOTES & GLAZING DETAIL

2 ELEVATION AND OPENING DETAILS

4 VERTICAL SECTIONS

5 HORIZONTAL SECTIONS

ARMRLITE
DOOR MANUFACTURING CO., INC.
CUSTOM MAX ALUMINUM AND GLASS OVERHEAD

SECTIONAL DOOR
(NON-HVHZ) (NON-IMPACT)

GENERAL NOTES:

1. THE PRODUCT SHOWN HEREIN IS DESIGNED AND
MANUFACTURED TO COMPLY WITH THE CURRENT FLORIDA
BUILDING CODE (FBC), EXCLUDING HVHZ AND HAS BEEN
EVALUATED ACCORDING TO THE FOLLOWING:

· ASTM E330-14

2. ADEQUACY OF THE EXISTING STRUCTURAL
CONCRETE/MASONRY AND FRAMING AS A MAIN WIND
FORCE RESISTING SYSTEM CAPABLE OF WITHSTANDING AND
TRANSFERRING APPLIED PRODUCT LOADS TO THE
FOUNDATION IS THE RESPONSIBILITY OF THE ENGINEER OR
ARCHITECT OF RECORD FOR THE PROJECT OF INSTALLATION.

3. 1X AND 2X BUCKS (WHEN USED) SHALL BE DESIGNED AND
ANCHORED TO PROPERLY TRANSFER ALL LOADS TO THE
STRUCTURE.  BUCK DESIGN AND INSTALLATION IS THE
RESPONSIBILITY OF THE ENGINEER OR ARCHITECT OF RECORD
FOR THE PROJECT OF INSTALLATION.

4. THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERIC
AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFIC
SITE.  IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE
FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED
ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC
DOCUMENTS FOR USE WITH THIS DOCUMENT.

5.  APPROVED IMPACT PROTECTIVE SYSTEM IS REQUIRED TO
PROTECT THIS PRODUCT IN AREAS REQUIRING IMPACT
RESISTANCE.

6. DOOR RAILS & STILES MATERIAL: ALUMINUM 6063-T5

7. DOOR PANEL MATERIAL: ALUMINUM 5005-H14

8. DOOR CONSTRUCTIONS: ALL ALUMINUM MEMBERS HELI-ARC
WELDED IN CONCEALED LOCATIONS

9. GLASS SHALL MEET THE REQUIREMENTS OF ASTM E 1300
GLASS CHARTS.  SEE SHEET 1 FOR GLAZING DETAIL.

DESIGN PRESSURE RATING

DESIGN PRESSURE

+23.3 / -23.3 PSF

MISSILE IMPACT RATING

NON-IMPACT RATED

6

SHEET:

DWG. #:

1
ARL001

   
BU

IL
DI

N
G 

DR
O

PS
, I

N
C.

39
8 

E.
 D

AN
IA

 B
EA

CH
 B

LV
D.

, S
TE

. 3
38

DA
N

IA
 B

EA
CH

, F
L 

33
00

4
PH

: (
95

4)
39

9-
84

78
FA

X:
 (9

54
)7

44
.4

73
8

W
EB

: w
w

w
.b

ui
ld

in
gd

ro
ps

.c
om

SCALE: NTS
LL

DWG. BY:

DATE: 05.29.20
CHK. BY:

HFN

REMARKS

TI
TL

E:

BY DATE

CU
ST

O
M

 M
AX

 A
LU

M
IN

U
M

 A
N

D 
GL

AS
S

O
VE

RH
EA

D 
SE

CT
IO

N
AL

 D
O

O
R

(N
O

N
-H

VH
Z)

 (N
O

N
-IM

PA
CT

)

6/
23

/2
02

3 
9:

15
 A

M
z:

\p
ro

je
ct

s\
ar

m
 r

 li
te

\c
c-

23
-0

56
3 

- 
fb

c 
20

23
 c

od
e 

ch
an

ge
 (8

th
 e

di
ti

on
)\

dw
gs

\a
rl

00
1 

cu
st

om
 m

ax
 a

lu
m

in
um

 a
nd

 g
la

ss
 o

ve
rh

ea
d 

se
ct

io
na

l d
oo

r 
(2

).d
wg

ARMRLITE
40 COLONIAL DR.

PISCATAWAY, NJ 08854
PH: (908) 754-2600 FAX: (908) 754-6522

FL32416
FL #:

PR
EP

AR
ED

 B
Y:

HERMES F. NORERO, P.E.
FLORIDA P.E. No 73778
BUILDING DROPS, INC

398 E. DANIA BEACH BLVD. # 338
DANIA BEACH, FL 33004

FBPE CERT. OF AUTHORIZATION No. 29578

THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERIC
AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFIC
SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE
FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED

ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC
DOCUMENTS FOR USE WITH THIS DOCUMENT

OF 6

2023 CODE CHANGE MG 06/23

GE
N

ER
AL

 N
O

TE
S 

AN
D

GL
AZ

IN
G 

DE
TA

IL

INSTALLATION NOTES AND ANCHOR DETAIL

3 ANCHOR LAYOUT AND TRACK DETAILS



MAX O.A.
DOOR

HEIGHT
291"

MAX O.A. DOOR WIDTH
242"

MAX
LOWER SECTION

HEIGHT
25 11/16"

MAX
MID SECTION

HEIGHT
23 5/16"

MAX
UPPER SECTION
HEIGHT
25 5/16"

MAX
D.L.O. WIDTH

35"
MAX
D.L.O HEIGHT
19 1/16"

EXTERIOR DOOR ELEVATION

4
A

? ?B
4

C
4

?
?D
5

NOTE: ELEVATION SHOW 0.051" 5005-H14 BOTTOM PANELS,
GLAZED BOTTOM PANELS ARE A QUALIFIED OPTION

?
A
5

?
C
5

5
E ?

5
B

12" X 12"
STEEL MOUNTING

PLATE BY G.C. HEADROOM
REQUIRED

16"

HEADER
BY G.C.

3" MINIMUM
INSIDE FACE
REQUIRED FOR
TRACK MOUNTING

MAX
OPENING WIDTH

20' 0"

MAX
OPENING
HEIGHT
24' 2"

VERTICAL JAMB
IN PLACE BY G.C.

SHEET:

DWG. #:

2
ARL001

   
BU

IL
DI

N
G 

DR
O

PS
, I

N
C.

39
8 

E.
 D

AN
IA

 B
EA

CH
 B

LV
D.

, S
TE

. 3
38

DA
N

IA
 B

EA
CH

, F
L 

33
00

4
PH

: (
95

4)
39

9-
84

78
FA

X:
 (9

54
)7

44
.4

73
8

W
EB

: w
w

w
.b

ui
ld

in
gd

ro
ps

.c
om

SCALE: NTS
LL

DWG. BY:

DATE: 05.29.20
CHK. BY:

HFN

REMARKS

TI
TL

E:

BY DATE

CU
ST

O
M

 M
AX

 A
LU

M
IN

U
M

 A
N

D 
GL

AS
S

O
VE

RH
EA

D 
SE

CT
IO

N
AL

 D
O

O
R

(N
O

N
-H

VH
Z)

 (N
O

N
-IM

PA
CT

)

6/
23

/2
02

3 
9:

15
 A

M
z:

\p
ro

je
ct

s\
ar

m
 r

 li
te

\c
c-

23
-0

56
3 

- 
fb

c 
20

23
 c

od
e 

ch
an

ge
 (8

th
 e

di
ti

on
)\

dw
gs

\a
rl

00
1 

cu
st

om
 m

ax
 a

lu
m

in
um

 a
nd

 g
la

ss
 o

ve
rh

ea
d 

se
ct

io
na

l d
oo

r 
(2

).d
wg

ARMRLITE
40 COLONIAL DR.

PISCATAWAY, NJ 08854
PH: (908) 754-2600 FAX: (908) 754-6522

FL32416
FL #:

PR
EP

AR
ED

 B
Y:

HERMES F. NORERO, P.E.
FLORIDA P.E. No 73778
BUILDING DROPS, INC

398 E. DANIA BEACH BLVD. # 338
DANIA BEACH, FL 33004

FBPE CERT. OF AUTHORIZATION No. 29578

THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERIC
AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFIC
SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE
FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED

ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC
DOCUMENTS FOR USE WITH THIS DOCUMENT

OF 6

2023 CODE CHANGE MG 06/23

EL
EV

AT
IO

N
 &

 O
PE

N
IN

G 
DE

TA
IL

S

TYPICAL OPENING DETAILS

AutoCAD SHX Text
L

AutoCAD SHX Text
C



NOTE: DESIGN AND OPERATION OF OPERATOR MECHANISM
AND BALANCE SYSTEM IS NOT PART OF THIS APPROVAL,
MANUFACTURER SPECIFICATIONS SHOULD BE FOLLOWED.
TYPICAL DETAILS SHOWN ABOVE. CARE SHOULD BE TAKEN
WHEN DOOR IS IN MOTION ENSURING THAT PERSONAL INJURY
OR DAMAGE TO THIS PRODUCT DOES NOT OCCUR.

1/8" OR 5/32" PREFORMED
GALV. STEEL

AIRCRAFT TYPE CABLE

16 GA. 3" STL REINF
STRUTS AT TOP OF
ALL SECTIONS

RED CABLE
DRUM

RED MARKED
WINDING CONE

TORSION
SPRING

COUPLING
MTG. BRKTS. &
SPRING ANCHOR PLUG

1" DIAMETER
TUBE SHAFT

1/4" X 12"
STEEL MTG
PLATE
BY G.C.

13 1/2"

3" GALVANIZED
STEEL TRACK

JAMB
STRUCTURE
IN PLACE BY
G.C.

ADJUSTABLE TRACK
MOUNTING BRACKETS

OPENING
HEIGHT
24' 2"

HEADROOM
REQUIRED

16"
13 3/8"

HORIZONTAL REINFORCEMENT
ANGLE

15R

HANGERS BY ERECTOR

25' 8"

24' 9"

TRACK BRACKETS
24" MAX. O.C.

3"3"
3"

3"3"
3"

3"3"
3"

3"3"
3"

ANCHORS SPACED 3"
ABOVE AND BELOW

CENTERLINE ON BRACKET

1 3/4" X 2 5/8" X 1/8" CONT
STEEL REVERSE ANGLE
MOUNTING

(2) 1/4"-20 NUT BOLT AND WASHER
FROM BRACKET TO ANGLE AND (1)
1/4"-20 NUT BOLT AND WASHER FROM
TRACK TO BRACKET

SHEET:

DWG. #:

3
ARL001

   
BU

IL
DI

N
G 

DR
O

PS
, I

N
C.

39
8 

E.
 D

AN
IA

 B
EA

CH
 B

LV
D.

, S
TE

. 3
38

DA
N

IA
 B

EA
CH

, F
L 

33
00

4
PH

: (
95

4)
39

9-
84

78
FA

X:
 (9

54
)7

44
.4

73
8

W
EB

: w
w

w
.b

ui
ld

in
gd

ro
ps

.c
om

SCALE: NTS
LL

DWG. BY:

DATE: 05.29.20
CHK. BY:

HFN

REMARKS

TI
TL

E:

BY DATE

CU
ST

O
M

 M
AX

 A
LU

M
IN

U
M

 A
N

D 
GL

AS
S

O
VE

RH
EA

D 
SE

CT
IO

N
AL

 D
O

O
R

(N
O

N
-H

VH
Z)

 (N
O

N
-IM

PA
CT

)

6/
23

/2
02

3 
9:

15
 A

M
z:

\p
ro

je
ct

s\
ar

m
 r

 li
te

\c
c-

23
-0

56
3 

- 
fb

c 
20

23
 c

od
e 

ch
an

ge
 (8

th
 e

di
ti

on
)\

dw
gs

\a
rl

00
1 

cu
st

om
 m

ax
 a

lu
m

in
um

 a
nd

 g
la

ss
 o

ve
rh

ea
d 

se
ct

io
na

l d
oo

r 
(2

).d
wg

ARMRLITE
40 COLONIAL DR.

PISCATAWAY, NJ 08854
PH: (908) 754-2600 FAX: (908) 754-6522

FL32416
FL #:

PR
EP

AR
ED

 B
Y:

HERMES F. NORERO, P.E.
FLORIDA P.E. No 73778
BUILDING DROPS, INC

398 E. DANIA BEACH BLVD. # 338
DANIA BEACH, FL 33004

FBPE CERT. OF AUTHORIZATION No. 29578

THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERIC
AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFIC
SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE
FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED

ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC
DOCUMENTS FOR USE WITH THIS DOCUMENT

OF 6

2023 CODE CHANGE MG 06/23

AN
CH

O
R 

LA
YO

U
T

AN
D 

TR
AC

K 
DE

TA
IL

S

ANCHOR LAYOUT
TRACK DETAILS

ANCHOR LAYOUT
HARDWARE DETAILS

AutoCAD SHX Text
L

AutoCAD SHX Text
C



3 7/8"
4 1/2"

4 1/2"

1" LAP

4
VERTICAL SECTION

UPPER SECTION DETAIL
A

4
VERTICAL SECTION

MID SECTION DETAIL
B

4
VERTICAL SECTION

LOWER SECTION DETAIL
C

GALVANIZED
3" 20 GA. STRUT,
DOOR WIDTH - 12"

GALVANIZED END
HINGE & ROLLER
CARRIER

U SHAPED
ASTRAGAL
BY A-R-L

1 3/4"

SEE GLAZING DETAIL
ON SHEET 1

SEE GLAZING DETAIL
ON SHEET 1

SEE GLAZING DETAIL
ON SHEET 1

SEE GLAZING DETAIL
ON SHEET 1

O.A. DOOR
HEIGHT

O.A. DOOR
HEIGHT

O.A. DOOR
HEIGHT

O.A. DOOR
HEIGHTINTERIOR

EXTERIOR

INTERIOR

EXTERIOR

INTERIOR

EXTERIOR

GALVANIZED
3" 20 GA. STRUT,
DOOR WIDTH - 12"

SHEET:

DWG. #:

4
ARL001

   
BU

IL
DI

N
G 

DR
O

PS
, I

N
C.

39
8 

E.
 D

AN
IA

 B
EA

CH
 B

LV
D.

, S
TE

. 3
38

DA
N

IA
 B

EA
CH

, F
L 

33
00

4
PH

: (
95

4)
39

9-
84

78
FA

X:
 (9

54
)7

44
.4

73
8

W
EB

: w
w

w
.b

ui
ld

in
gd

ro
ps

.c
om

SCALE: NTS
LL

DWG. BY:

DATE: 05.29.20
CHK. BY:

HFN

REMARKS

TI
TL

E:

BY DATE

CU
ST

O
M

 M
AX

 A
LU

M
IN

U
M

 A
N

D 
GL

AS
S

O
VE

RH
EA

D 
SE

CT
IO

N
AL

 D
O

O
R

(N
O

N
-H

VH
Z)

 (N
O

N
-IM

PA
CT

)

6/
23

/2
02

3 
9:

15
 A

M
z:

\p
ro

je
ct

s\
ar

m
 r

 li
te

\c
c-

23
-0

56
3 

- 
fb

c 
20

23
 c

od
e 

ch
an

ge
 (8

th
 e

di
ti

on
)\

dw
gs

\a
rl

00
1 

cu
st

om
 m

ax
 a

lu
m

in
um

 a
nd

 g
la

ss
 o

ve
rh

ea
d 

se
ct

io
na

l d
oo

r 
(2

).d
wg

ARMRLITE
40 COLONIAL DR.

PISCATAWAY, NJ 08854
PH: (908) 754-2600 FAX: (908) 754-6522

FL32416
FL #:

PR
EP

AR
ED

 B
Y:

HERMES F. NORERO, P.E.
FLORIDA P.E. No 73778
BUILDING DROPS, INC

398 E. DANIA BEACH BLVD. # 338
DANIA BEACH, FL 33004

FBPE CERT. OF AUTHORIZATION No. 29578

THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERIC
AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFIC
SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE
FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED

ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC
DOCUMENTS FOR USE WITH THIS DOCUMENT

OF 6

2023 CODE CHANGE MG 06/23

VE
RT

IC
AL

 S
EC

TI
O

N
S



5
HORIZONTAL SECTION

INTERMEDIATE ROLLER JAMB DETAIL
C

7 1/2" 3 3/8"

1 3/4"

SEE GLAZING DETAIL
ON SHEET 1

SEE GLAZING DETAIL
ON SHEET 1

O.A. DOOR WIDTH

INTERIOR

EXTERIOR

INTERIOR

EXTERIOR

1" LAP
O.A. DOOR WIDTH

OPENING WIDTH

5
HORIZONTAL SECTION

STILE DETAIL
D

1/4" SDS, 4
PER HINGE LEAF

1/4" SDS, 4
PER HINGE LEAF

1 3/4" X 2 5/8" X 1/8" CONT
STEEL REVERSE ANGLE

MOUNTING

OPENING WIDTH

HD BALL BEARING ROLLER

HD BALL BEARING ROLLER

3" GALVANIZED
STEEL TRACK

1 3/4" X 2 5/8" X 1/8" CONT
STEEL REVERSE ANGLE

MOUNTING

1/4" SDS, 6
PER FIXTURE

11 GA. TOP FIXTURE

16 GA. 3" STL REINF STRUTS
AT TOP OF ALL SECTIONS

3 3/8"7 1/2"

1 3/4"

WIDE MULL WELDED
IN CONCEALED
LOCATIONS

OPENING WIDTH
O.A. DOOR WIDTH

1" LAP
O.A. DOOR WIDTH
OPENING WIDTH

INTERIOR

EXTERIOR

INTERIOR

EXTERIOR

1/4" SDS, 4
PER HINGE LEAF

5
HORIZONTAL SECTION

UPPER ROLLER JAMB DETAIL
A

5
HORIZONTAL SECTION

STILE DETAIL
B

5
HORIZONTAL SECTION

LOWER ROLLER JAMB DETAIL
E

HD BALL BEARING ROLLER

1 3/4" X 2 5/8" X 1/8" CONT
STEEL REVERSE ANGLE

MOUNTING

7 1/2"

O.A. DOOR WIDTH
OPENING WIDTH

1" LAP

11 GA. BOTTOM
FIXTURE

INTERIOR

EXTERIOR SEE GLAZING DETAIL
ON SHEET 1

SEE GLAZING DETAIL
ON SHEET 1

SEE GLAZING DETAIL
ON SHEET 1

3" GALVANIZED
STEEL TRACK

3" GALVANIZED
STEEL TRACK

TWO (2) 1/4"-20 BOLT
NUT AND WASHER FROM

BRACKET TO ANGLE

1/4" SDS, 6
PER FIXTURE

ONE (1) 1/4"-20 BOLT NUT
AND WASHER FROM
TRACK TO BRACKET

TWO (2) 1/4"-20 BOLT
NUT AND WASHER FROM

BRACKET TO ANGLE

ONE (1) 1/4"-20 BOLT NUT
AND WASHER FROM
TRACK TO BRACKET

TWO (2) 1/4"-20 BOLT
NUT AND WASHER FROM

BRACKET TO ANGLE
ONE (1) 1/4"-20 BOLT NUT

AND WASHER FROM
TRACK TO BRACKET

SHEET:

DWG. #:

5
ARL001

   
BU

IL
DI

N
G 

DR
O

PS
, I

N
C.

39
8 

E.
 D

AN
IA

 B
EA

CH
 B

LV
D.

, S
TE

. 3
38

DA
N

IA
 B

EA
CH

, F
L 

33
00

4
PH

: (
95

4)
39

9-
84

78
FA

X:
 (9

54
)7

44
.4

73
8

W
EB

: w
w

w
.b

ui
ld

in
gd

ro
ps

.c
om

SCALE: NTS
LL

DWG. BY:

DATE: 05.29.20
CHK. BY:

HFN

REMARKS

TI
TL

E:

BY DATE

CU
ST

O
M

 M
AX

 A
LU

M
IN

U
M

 A
N

D 
GL

AS
S

O
VE

RH
EA

D 
SE

CT
IO

N
AL

 D
O

O
R

(N
O

N
-H

VH
Z)

 (N
O

N
-IM

PA
CT

)

6/
23

/2
02

3 
9:

15
 A

M
z:

\p
ro

je
ct

s\
ar

m
 r

 li
te

\c
c-

23
-0

56
3 

- 
fb

c 
20

23
 c

od
e 

ch
an

ge
 (8

th
 e

di
ti

on
)\

dw
gs

\a
rl

00
1 

cu
st

om
 m

ax
 a

lu
m

in
um

 a
nd

 g
la

ss
 o

ve
rh

ea
d 

se
ct

io
na

l d
oo

r 
(2

).d
wg

ARMRLITE
40 COLONIAL DR.

PISCATAWAY, NJ 08854
PH: (908) 754-2600 FAX: (908) 754-6522

FL32416
FL #:

PR
EP

AR
ED

 B
Y:

HERMES F. NORERO, P.E.
FLORIDA P.E. No 73778
BUILDING DROPS, INC

398 E. DANIA BEACH BLVD. # 338
DANIA BEACH, FL 33004

FBPE CERT. OF AUTHORIZATION No. 29578

THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERIC
AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFIC
SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE
FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED

ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC
DOCUMENTS FOR USE WITH THIS DOCUMENT

OF 6

2023 CODE CHANGE MG 06/23

HO
RI

ZO
N

TA
L 

SE
CT

IO
N

S



· ALL ANCHOR TYPES LISTED ABOVE VALID FOR MIN. SPECIFIED SUBSTRATE OR GREATER
· ANCHOR OPTION MUST MEET MINIMUM EMBEDMENT, EDGE DISTANCE SPECIFIED

ANCHOR TABLE

ANCHOR SUBSTRATE EMBEDMENT EDGE DISTANCE

1/4" ITW TAPCON 3000 PSI CONCRETE 1-1/2" 2-1/2"
WELDED 1/8" FILLET

WELD W/ 6011
ELECTRODE AT ANCHOR

HOLE PERIMETER

1/4" THICK STEEL, MIN.
 FY = 33 KSI N/A 3/4"

5/16" SELF-DRILLING
SCREW

1/4" THICK STEEL, MIN.
 FY = 33 KSI

3 THREADS MIN.
PENETRATION BEYOND

METAL
3/4"

5/16" LAG SCREW SG = 0.55 WOOD 1-1/2" 1"

1" LAP

6
ANCHOR DETAIL

MOUNT TO STEEL
A

6
ANCHOR DETAIL

MOUNT TO STEEL - WELDED
B

3/4" MIN. EDGE
DISTANCE

ANCHOR HOLE
PERIMETER WELDED
TO STEEL SUBSTRATE

USING 6011
ELECTRODE, MIN. 1/8"

FILLET WELD1" LAP

3/4" MIN. EDGE
DISTANCE

6
ANCHOR DETAIL

MOUNT TO WOOD
C

6
ANCHOR DETAIL

MOUNT TO CONCRETE
D

2-1/2" MIN. EDGE
DISTANCE

1 1/2" LAP

1-1/2" MIN.
EMBEDMENT

1" LAP

3 THREADS MIN.
EMBEDMENT

1" MIN. EDGE
DISTANCE

5/16" SDS
WITH 3/4" MIN.

O.D. WASHER

1/4" ITW TAPCON
WITH 3/4" MIN
O.D. WASHER

5/16" LAG SCREW
WITH 3/4" MIN
 O.D. WASHER1-1/2" MIN.

EMBEDMENT

SHEET:

DWG. #:

6
ARL001

   
BU

IL
DI

N
G 

DR
O

PS
, I

N
C.

39
8 

E.
 D

AN
IA

 B
EA

CH
 B

LV
D.

, S
TE

. 3
38

DA
N

IA
 B

EA
CH

, F
L 

33
00

4
PH

: (
95

4)
39

9-
84

78
FA

X:
 (9

54
)7

44
.4

73
8

W
EB

: w
w

w
.b

ui
ld

in
gd

ro
ps

.c
om

SCALE: NTS
LL

DWG. BY:

DATE: 05.29.20
CHK. BY:

HFN

REMARKS

TI
TL

E:

BY DATE

CU
ST

O
M

 M
AX

 A
LU

M
IN

U
M

 A
N

D 
GL

AS
S

O
VE

RH
EA

D 
SE

CT
IO

N
AL

 D
O

O
R

(N
O

N
-H

VH
Z)

 (N
O

N
-IM

PA
CT

)

6/
23

/2
02

3 
9:

15
 A

M
z:

\p
ro

je
ct

s\
ar

m
 r

 li
te

\c
c-

23
-0

56
3 

- 
fb

c 
20

23
 c

od
e 

ch
an

ge
 (8

th
 e

di
ti

on
)\

dw
gs

\a
rl

00
1 

cu
st

om
 m

ax
 a

lu
m

in
um

 a
nd

 g
la

ss
 o

ve
rh

ea
d 

se
ct

io
na

l d
oo

r 
(2

).d
wg

ARMRLITE
40 COLONIAL DR.

PISCATAWAY, NJ 08854
PH: (908) 754-2600 FAX: (908) 754-6522

FL32416
FL #:

PR
EP

AR
ED

 B
Y:

HERMES F. NORERO, P.E.
FLORIDA P.E. No 73778
BUILDING DROPS, INC

398 E. DANIA BEACH BLVD. # 338
DANIA BEACH, FL 33004

FBPE CERT. OF AUTHORIZATION No. 29578

THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERIC
AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFIC
SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE
FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED

ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC
DOCUMENTS FOR USE WITH THIS DOCUMENT

OF 6

2023 CODE CHANGE MG 06/23

IN
ST

AL
LA

TI
O

N
 N

O
TE

S 
AN

D
AN

CH
O

R 
DE

TA
IL

S 
AN

D 
SC

HE
DU

LE

INSTALLATION NOTES:

1.  ONE (1) INSTALLATION ANCHOR  IS REQUIRED AT EACH ANCHOR LOCATION SHOWN, UNLESS OTHERWISE STATED.

2.  THE NUMBER OF INSTALLATION ANCHORS DEPICTED IS THE MINIMUM NUMBER OF ANCHORS TO BE USED FOR PRODUCT INSTALLATION.

3.  INSTALL INDIVIDUAL INSTALLATION ANCHORS WITHIN A TOLERANCE OF ±1/2 INCH OF THE DEPICTED LOCATION IN THE ANCHOR LAYOUT DETAIL
(I.E., WITHOUT CONSIDERATION OF TOLERANCES).  TOLERANCES ARE NOT CUMULATIVE FROM ONE INSTALLATION ANCHOR TO THE NEXT.

4. MINIMUM EMBEDMENT AND EDGE DISTANCE EXCLUDE WALL FINISHES, INCLUDING BUT NOT LIMITED TO STUCCO, FOAM, BRICK VENEER, AND
SIDING.

5. INSTALLATION ANCHORS AND ASSOCIATED HARDWARE MUST BE MADE OF CORROSION RESISTANT MATERIAL OR HAVE A CORROSION RESISTANT
COATING.

6. FOR HOLLOW BLOCK AND GROUT FILLED BLOCK, DO NOT INSTALL INSTALLATION ANCHORS INTO MORTAR JOINTS. EDGE DISTANCE IS MEASURED
FROM FREE EDGE OF BLOCK OR EDGE OF MORTAR JOINT INTO FACE SHELL OF BLOCK.

7. INSTALLATION ANCHORS SHALL BE INSTALLED IN ACCORDANCE WITH ANCHOR MANUFACTURER'S INSTALLATION INSTRUCTIONS, AND ANCHORS
SHALL NOT BE USED IN SUBSTRATES WITH STRENGTHS LESS THAN THE MINIMUM  STRENGTH SPECIFIED BY THE ANCHOR MANUFACTURER.


	Sheets and Views
	ARL001 Custom Max Aluminum and Glass Overhead Sectional Door (2)-1
	ARL001 Custom Max Aluminum and Glass Overhead Sectional Door (2)-2
	ARL001 Custom Max Aluminum and Glass Overhead Sectional Door (2)-3
	ARL001 Custom Max Aluminum and Glass Overhead Sectional Door (2)-4
	ARL001 Custom Max Aluminum and Glass Overhead Sectional Door (2)-5
	ARL001 Custom Max Aluminum and Glass Overhead Sectional Door (2)-6


		2023-08-08T17:08:12-0400
	Hermes F. Norero, P.E.
	I am approving this document




